
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique por potências de dez (número ausente)

3, 292 × ________ = 329.2 1, 159 × ________ = 115.9

8, 689 × ________ = 86.89 1, 756 × ________ = 175.6

4, 524 × ________ = 45.24 4, 375 × ________ = 437.5

1, 556 × ________ = 15.56 10, 655 × ________ = 106.55

4, 256 × ________ = 42.56 1, 65 × ________ = 1650

2, 793 × ________ = 27.93 9, 206 × ________ = 92.06

9, 027 × ________ = 9027 5, 203 × ________ = 52.03

8, 139 × ________ = 8139 4, 286 × ________ = 428.6

5, 769 × ________ = 5769 3, 233 × ________ = 3233

4, 11 × ________ = 41.1 2, 119 × ________ = 211.9
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Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique por potências de dez (número ausente)

3, 292 × 100 = 329.2 1, 159 × 100 = 115.9

8, 689 × 10 = 86.89 1, 756 × 100 = 175.6

4, 524 × 10 = 45.24 4, 375 × 100 = 437.5

1, 556 × 10 = 15.56 10, 655 × 10 = 106.55

4, 256 × 10 = 42.56 1, 65 × 1000 = 1650

2, 793 × 10 = 27.93 9, 206 × 10 = 92.06

9, 027 × 1000 = 9027 5, 203 × 10 = 52.03

8, 139 × 1000 = 8139 4, 286 × 100 = 428.6

5, 769 × 1000 = 5769 3, 233 × 1000 = 3233

4, 11 × 10 = 41.1 2, 119 × 100 = 211.9
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